Fig 1E. RT4, HT, T24, 8301
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Fig 2A. RT4(shCOL, shMaspin)
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Fig 2B. T24(DNA, MASPIN)
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Fig 3A. HT(shcol, shMaspin)
Actin

Maspin

-— -
1.00 0.22

Fig 3B. T24(DNA, MASPIN)
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Fig 4E. tumor xenografts HT(shCOL, shMaspin)
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Fig 5A Left. RT4(shCOL, shMaspin)
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Fig 5A Mid. HT(shCOL, shMaspin)
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Fig 5A Right. T24(DNA, Maspin)
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Fig 5D Left. RT4(shCOL, shMaspin)
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Fig 5D Mid. HT(shCOL, shMaspin)
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Fig 5D Right. T24(DNA, Maspin)
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Fig 6A Left. RT4(shCOL, shPTEN)
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Fig 6A Right. T24(DNA, PTEN)
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Fig 6E. RT4(control, shCOL, shPTEN)
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Fig 6F. RT4+V0O-0Hpic(0,250,500,1000)
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Fig 61. Top. T24+MK2206(0,500,1000)
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Fig 6l. bot. T24+MK2206(0,250,500,1000)
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Fig 7A. HT(DNA, p53)
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Figure supplementary 3. The original pictures of the immunoblot assays



